DIAGHOSTIC TESTS

J C | DIAGNOSTIC TEST: FUNCTIONS
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FIGURE FOR PROBLEM |

Rad

. I fixh = 7, evaluate the difference guotient

I wswid

- The graph of a fonction £ is given at the lefi.

(o) State the value of f{—1).

(bh Estimate the value of {2}

(e) For what values of vis fx) = 27

(i} Estimate the values of x such thar f(x) = 0.
(2) State the domain and range of f

S+ = [i2)

i
. Find the domain of the functon.
: 2x + | Hx —
() flx) = ———— b) glr) = — ) Bl = 14— +
F4+x-12 -+ 1

. How are graphs of the functions obtained Trom the graph ool £

() »=—flx} by »=2fx) — 1 ) v=flx—3)+72
. Withour using a caleulmor, make a rough sketel of the graph.

(@) y =’ (b) y=(x+ 1y (€ y=(x—27+3

W) y=4-x (€) ¥ = x () ¥ =24

2) y==% thy ¥y=14+x"

x+1 ifx=0

() Evalume {{—2)and £(1). (b} Sketch the graph of 7.

1 —x* ifx=0
. Let f(x) { il et

L INflx) =x%+ 2x — 1 and g{x) = 2x — 3, find each of the followimg functions.

fa) fog bl gof ichgegoyg

ANSWERS TO DIAGNOSTIC TEST C: FUNCTIONS

I, {a) —2
{ch —3. 1
{e} [-3.3][-2.3]

L12+ah+ 47

3 () (=, =23 L (=2, 17U {1, =)

ih) (—ae, =)
) (==, =11 U1, 4]

4, (o} Relect aboul the s-axis
{b) Streteh vertically by a factor of 2, then shift 1 unit downward
() Shift 3 vnits fo the right and 2 wnits upward

hy

(b 2.4
(ly —2.5,0.3

and simphify vour answer,

{e] (1]

-

(gh ¥ i

1t wou hive had difficulty with these problems, vou should look at Sections 1.1-1.23 of this boak.

(© b (m) —3.3 7. {a) (o gh(x} = 4x% — 8x + 2
(b} ra by (=Ml =257+ 4y — 5§
J {e) La=g=ahx) = 8x — 2|
0 x .



